
1) 7539.5 - 4241.6

Answer: ____________

2) 7539.5 - 4241.6

Answer: ____________

3) 1 ÷ 14 + 14 x 5

Answer: ____________

4) Write 9000 in standard form.

Answer: ____________

5)

'Name the type of angle.

Answer: ____________

6) 1800 ÷ 100

Answer: ____________

7) 4 + 3 x (8 - 3)

Answer: ____________

8) 55.5 x 17.6

Answer: ____________

9)
169

3 /6

Answer: ____________

10)
40

Volume of Cone 
40

Answer: ____________

11) Find the mode of the following set of data:

146, 146, 146, 28, 28, 28, 28, 158, 
158, 137, 137

Answer: ____________

12) Solve by factorising 
f2 - 9f + 18 = 0

Answer: ____________

13)

Name the type of angle.

Answer: ____________

14) Round 18.16724850628313 to the 
nearest whole number.

Answer: ____________

15) 2642.7 - 4983.5

Answer: ____________
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16) What would you multiply by to 
increase an amount by 63%?

Answer: ____________

17) (-36) x (-100)

Answer: ____________

18) 9654 - 7382

Answer: ____________

19) 40
Find Volume of 

                        Rectangular Pyramid 
30

39

Answer: ____________

20) (14 ÷ 9) x (9 + 19)

Answer: ____________

Total: ___ / 20
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Answers:

1) 3297.9 2) 3297.9 3) 4) 9 x 103 5) Right 6) 18 7)

8) 976.8 9) 13 10) 67020.643276582 11) 28 12) f = 6 or 3 13) Acute 14) 18

15) -2340.8 16) 1.63 17) 18) 2272 19) 15600 20)
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